
 

 

 

 

CLASS-6                                                                                                          [10-MARKS] 

SUB-MATHS 

                                                    WEEKLY TEST                                                   

                                                      

                                                                     SECTION -A                                   [1-MARKS] 

I MULTIPLE CHOICE QUESTIONS 

Question 1 
Round 126 to nearest tens? 
a. 120 
b. 130 
c. 100 
 
II FILL IN THE BLANKS 

(a) 1 lakh = ………….. ten thousand. 

III PUT TRUE AND FALSE AGAINST EACH STATEMENT 

(a) Successor of a one digit number is always a one digit number. 

 

                                             SECTION –B                                [2-MARKS] 

1 Answer the following questions(Do as directed any two) 
(a) What comes just after 2779999? 
(b) What comes just before 1110000? 

2 Arrange the following numbers in descending order: 
(a) 12098, 12980, 12890, 12089 
(b) 2008909, 299088, 2000899, 298099 
 



3 Write the numbers for the following number names and insert comas at proper places. 
(a) Five lakh one hundred twenty-one 
(b) Eighty crore six thousand fifty-three 
 
4 The estimated difference of 43,209 and 3,479 by rounding off to the nearest hundred is 
____________________ 
  
 
 
 
                                                    SECTION –C                      [3-MARKS] 
 
SOLVE (Any one)   
1.A machine, on an average, manufactures 2,825 screws a day. How many screws did it produce 
in the month of January, 2006? 
 
2 A student multiplied 7236 by 65 instead 
 of multiplying by 56. By how much was his answer greater than the correct answer? 
 
 3To stitch a shirt, 2 m 15 cm cloth is needed. Out of 40 m cloth, how many shirts can be stitched 
and how much cloth will remain? 
 
 

 
 

 
 
 

 

 


